
BADDAH BING
54" BUMPER POOL TABLE WITH ACCESSORIES - OAK

RB5800



5/16" x 3-1/2" Bolt (16) 5/16" x 2-1/2" Bolt (2) 5/16" x 2-5/8" Bolt (2) 5/16" Washer (16) Allen Wrench (1)
Allen Wrench 
with Handle (1)

Cue Chalk 
XRB17022 (2)

48" Cue Stick 
XRB17023 (2)

9" Table Brush 
XRB12057 (1)

Bumper Pool Ball Set 
XRB14507 (1)

XRB14506 (1)

45

8 9 10 11

13 14 15 16 17 18

2



（Pre-assembled）
Table Cabinet

XRB14500 (1)

ADJUSTABLE   LEG LEVELERS

Leg
XRB14501 (4)

Cross Beam
XRB14502 (2)

Center Beam Assembly
XRB14503 (1)

BADDAH 54＂BUMPER POOL TABLE - OAK

1 2

Leg Leveler
（Pre-assembled）（Pre-assembled）

XRB14504 (4)

Leg Bracket
XRB14505 (4)

3 4 6

3

7 12 19 20 21

#1

#2

#4

#7#3

#12 #21 #19 #20#19

#6

XRB14509 (6)
Red Bumper Post Ring
（Pre-installed）

XRB14510 (6)
White Bumper Post Ring

（Pre-installed）
Black Table Top Bump-on Steel Bumper Post

（Pre-installed）

XRB14508 (12)XRB14511 (6)

（Pre-installed）



4.85" 

1.1" 
1.1" 

BADDAH BING 54＂BUMPER POOL TABLE ASSEMBLY INSTRUCTIONS - OAK

STEP 1

STEP 2

4

#2

#2

#2

#2

#13

#13

#13

#13

#16

#16

#7

#7

#3

#3

#1

Position the #7 leg Bracket in place per the diagram above
and beside before securely tightening.

Loosely tighten the #16 Bolt to allow for final adjustments .



STEP 3

STEP 4

5

Make final adjustments and fully tighten #14 、 #15 and #16 bolts in place.

#4

#3

Loosely tighten the #15 Bolt to allow for final adjustments .

Insert the #4 Center Beam Assembly Into 
the #3 Cross Beams .

#15
#16

#15
#16

#16
#14

#16
#14

#4

BADDAH BING 54＂BUMPER POOL TABLE ASSEMBLY INSTRUCTIONS - OAK



STEP 5

STEP 6

6

ADJUSTABLE   LEG LEVELERS

#6

BADDAH BING 54＂BUMPER POOL TABLE ASSEMBLY INSTRUCTIONS - OAK




